oy | Gee | Gd

(7x4)=15= (8 6)—26= (9x8)—54=
Find 30% of 800 = Find 90% of 800 = Find 72% of 800 =
753-431= 2631 -1372 = 6534 — 2643 =

43 = 63 = 133 =

3672+ 34 = 4726 + 34 = 6086 + 34 =
0.05x10= 0.05x 100 = 0.05 x 1000 =
5x§= 7x§= 9x§=

594 + 3 = 768 +3 = 1104 + 3 =

783 x4 = 1528 x 4 = 3542 x4 =

_ +162=973 _ +264=1533 _ +1764=2754



oy | Gee | Gd

(7 x4)-15=13

Find 30% of 800 = 240

753 -431 =322
43 = 64

3672 +34=108
0.05x10=0.5
Sxg=g =4
594 +3 =198
783 x4 =3132

811 +162 =973

(8 x6)—26=22

Find 90% of 800 = 720

2631-1372 =1259
6° =216

4726 +34 =139
0.05x100=5

768 + 3 =256

1528 x4 =6112

1269 + 264 = 1533

(9x8)—-54=18

Find 72% of 800 = 576

6534 — 2643 = 3891
13°=2197
6086 +34 =179

0.05 x 1000 = 50

5 45 3 1
9x-=—=7==7-
6 6 6 2

1104 + 3 =368
3542 x4 =14168
990+ 1764 =2754



